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1 Let A=| -2 —6| Find ;(z[xl:| such that HA)?—BH attains a minimum,
X
1 0
1
where b= -1 .(15%)
2

2. Find the solution set W for the linear system.
X, —2X,+ X, =3
2%, — X, + X% —3X, =0 .(20%)
X, —3X, =X, — 71X, =4

3. Find an orthogonal 2 X 2 matrix Q such that QXZW,

- 17 — | -25
where X = and W= . (15%)
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s et VPP pegefinedby T(p(X)) = p'(X) + p(x +1),

where P2 is the set of all polynomials of degree <2 .
Find the matrix representations RB and RB. and an invertible matix
C such that C_lRBC = Ry for the linear tramsformation T relative

to the ordered bases B = (1, X%, X) and B =(X—1, Xx* +1, 2).(20%)

5. Find the value of K that satisfies the following equation

28y 28, 28, d & g
det| 3b, +5c, 3b,+5c, 3b,+5c, |[=kdet|b, b, b,| .(15%)
7c, 7c, /¢, c, C G
0 11
6. Let A=|1 2 1
1 10

Find an orthogonal matrix C such that C'AC isan diagonalization of A. (15%)




